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1. NERENIRLER (FREEES)
Al NMEEZHERNEENEY—ER 1xADTEE &8EE
ENERER Y AN &% 1Z| 2% 3Z|
EXIE1 3438 Hif 36,270 M 3,627 M 7,254 1 10,881 H
@D BEXiE EXiE2 6,948 Hify 73,301 [ 7,331 [© 14,661 [ 21,991 |
= ENE 10,423 Eiff | 109,962 M 10,997 M 21,993 M 32,989 M
X ENE2 15318 Hiff | 161,604 | 16,161 F 32,321 M 48,482 M
%8 ENiE EiE3 22,283 Hify | 235085 M 23,509 | 47017 M 70,526 F
ENE4 24593 Efg [ 259456 M 25,946 M 51,892 M 77,837 ©
BN S 27117 Efz [ 286,084 M 28,609 M 57217 H 85,826 M
g SHE AN &% 1E| 2%| 3Z|
MEME 1HIZDE (ABB&LY30H) 30 Efy 316 [ 32 H 64 M 95 M
SRAIEME (1) 17ACE  (REEDH) 800 Hifi 8,440 [ 844 M| 1688 M| 2532 M
@ |FBEEME () 17ACE  (REEDH) 500 Eifd 5275 [ 528 M| 1055 M| 1583 M
o [EEREREME(]) 1B 900 Hifd 9,495 [ 950 M| 1899 M| 2849 M
| BHEMEREME (L) 17ACE 700 Bifg 7,385 M 739 M| 1477 A| 2216 H
%5 [BERTEREMNE (M) 1B 480 Bif 5,064 [ 507 M| 1013 A| 1520 M
H—E RiREAGRIEME(I) 1482 350 Eifd 3,692 [ 370 H 739 M| 1108 H
ShRR AR E 1B 1,000 Bif: 10550 @ | 1,055 M| 2110 M| 3165 M
BAEIROAVMEHIME 1B 1,000 Bif: 10550 @ | 1,055 M| 2110 M| 3165 M
NEBELBREME(I) 17 BHT-Y DHERIE X 10.2% %1
NEBEFFELEREME (L) 17 B&HT=Y DEEAIE X 1.2% %1
R—27vIEXENE 157 Bzt DRBAIE X 1.7% X1
DEQDEHEIZEBILADH—ERABHEMINT x ERATHENE = REMKRER X2
(10. 55M)
MAEEROHESE RIEMZRER— (RIEXMEERAX0. 9 X2) = FAEEES 1 MEEAA X2 IHHET
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2. ZOMDER (FIAEEE10ES)
BE 18 :320M RE:580M & (B+>D) 1150 4 £ :580M 1H48 5t 1,595 M
BEE(GEEH) EES 1B&H1=Y 2,200 M
BEREE MABEOFLICKYSMT BT ITRIMERE EEHEL
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3. NERBEREEDSNDER (FIBEEEE10E]S)
K- BTG - SRR ELREDRER ATSY 300 M
B7SY 500 M
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BENEEICKRLE-FARCEIG&E) x 178 = 23509 H
BE (BiE1E-BRE3E H»DO3E -F82H) x 48 = 12720 M ¥ 44229 H
BEE GEIC1EERA) x 458 = 8000 M
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